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76. (B) Add it’ before ‘doesn't’ to make the sentence ‘ the only’ we generally use the following
complete in meaning. structure:
77. (A) When two different formsgof verbs are The only + plural noun+ of relative
needed, we use them separately. So add pronoun + singular verb
‘done’ after ‘have’ in théyfirst part of the Hence the correct option is (A).
sentence. 90. (B) After ‘remember’ if any verb comes, it is
78. (A) General structure: used in gerund form.
The whole+common "Néun 91.(D) Parted from someone
The whole+of+propeg noun Parted with something

Since ‘India’is a proper noun. Hence add

of after “the whole’ 92. (C)For past probability past form of modal

80. (B) ‘by dint of *... % ‘hard work’ should be used.
‘by virtuesof’ -, ‘ the power vested in
you’.

88. (C) Since,the subject is singular, it will take
singular verb®So replace ‘have’ with ‘has’.
89. (A) As we know that if a subject and the verb
are joined by a relative pronoun, the
verb will agree with the antecedent to the
relative pronoun. But when we deal with
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